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ex2) )(2 +10x+9

(G D)

REVERSE FOIL

1. Force FIRST
2. Force SIGNS

3. Force LAST
4. Check Ol
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exd) 2°-201+51

-((z-11)(2-3)

REVERSE FOIL

1. Force FIRST
2. Force SIGNS

3. Force LAST
4. Check Ol




Factor. b

exd) II2 +9N-6

REVERSE FOIL

S 1. Force FIRST
‘b 2. Force SIGNS

3. Force LAST
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Factor. 14

exs) j° + SjK - 14k’

- (J t jrk)()’Q\D

REVERSE FOIL

I 1. Force FIRST
2. Force SIGNS

3. Force LAST
4. Check Ol




Factor. 3

exe) 3a’-22a-16

(301 2)(a-9))

REVERSE FOIL

1. Force FIRST
2. Force SIGNS

3. Force LAST
4. Check Ol
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e 220 +A4I+6 122
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(2 + 3)(x + Q)

REVERSE FOIL

1. Force FIRST
2. Force SIGNS

3. Force LAST
4. Check Ol




exs) 24y” + 89y + 30

:@v +3)(3y +10)

TIME SAVER

If there is no GCF in the original trinomial, then
there CANNOT be a GCF in either of the two
binomial factors.



